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w1 T H 247 275 286 561 |~ WHATS5 T H 513 595 593 1,188|%r BT 7 T H 1,232 1,612 1, 459 3,071 | A RT3 H 215 275 266 541
B W 2T B 371 405 401 806 | T~ WiEMT6 T H 381 409 426 835|351 BT 8 T H 495 617 611 1,228/ | 4,515 5,365| 5,423| 10,788
B w3 T A 293 349 341 690 s 9,399| 10,769 10,645 21,414|% BT 9 T H 974| 1,182 1,065 2,247| " {R%EZ1T H 99 105 107 212
FE4ET1T B 153 159 141 300 | IE 586 636 679 1,315|K )= BT 1 T H 127 117 115 232| _RE2T H 310 361 372 733
P45 ET2 T B 98 84 86 170|% EHT 1 T H 312 404 385 789K JA M2 T H 351 392 391 83| _RE3T H 265 310 336 646
P4 ET3 T B 127 152 174 326|% W72 T H 604 703 673 1,376 5 8,612| 10,504| 9,614 20,118 " f#24T H 125 128 145 273
£ L HT 279 267 295 562|% BT 3 T H 1,472 1,519 1,445| 2,964 |W 0BT 1T H 794 909 878 1, 787| {RE5T H 92 116 119 235
N HT 412 418 445 863|% T4 T H 770 816 7741 1,590 (3 BT 2 T H 289 372 340 TI2IR #+ 1T H 76 80 83 163
fip L) 213 215 231 446( K 3 1 T H 804 933 897 1,830 D BT 3T H 226 259 269 528|3R 2 T H 127 146 146 292
1= T 129 123 137 260(k P9 2 T H 327 410 404 814 [ L BT 4 T H 729 730 717 LA447|R F 3T H 122 128 108 236
* F W 177 216 217 433[kK 4 3 T H 682 835 865 1,700 {rf S0 BT 5 T H 720 739 719 1,458 | & A W] 181 167 200 367
= fF HT 450 469 520 989 |t i 424 391 463 854 | T 6 T H 1,231 1,353 1,315 2,668(f & 1 T H 60 53 54 107
K o WE OHT 514 556 569 1, 125|4& 52 422 508 548 1,056 ({0 BT 7 T H 1,111 1,092 1,157  2,249|%) & 2 T H 71 78 75 153
W/ kT 315 319 328 647| A B F 1T H 269 329 329 658 [ BT 8 T H 801 885 739 1,624|f0 & (L 36 60 75 135
KB HET 518 573 562 1,135k 8 T2 7T H 240 331 338 669 {7 BT 9 T H 936 883 966|  1,849|/h aHl 1,564 1,732 1,820 3,552
HinfnE1T B 212 218 235 4534 ¢ 1 T H 513 732 708 1,440 [{r[0 BT10T A 862 780 753 1,533|= [ 1T H 399 281 318 599
HmEfnHE2T H 274 307 325 632(4 F 2 T H 92 119 109 228 Ea 7,699 8,002 7,853| 15,855|% [ 2 T H 87 98 94 192
HmEfiHE3T H 306 378 390 7684 F 3 T H 331 452 414 866|# & 1 T H 185 202 213 415|% [ 3 T H 246 184 183 367
Ft 5,088| 5,483| 5,683 11,166(45 ¢ 4 T H 571 759 707 1,466 | #& 2 T H 969| 1,298 1,218 2,516/ K1 T H 93 122 100 222
B AKRTL T H 235 274 280 5544 3 5 T H 472 641 630 1,271|#E #& 3 T H 342 433 436 869|/h& AR2T H 49 57 57 114
By AmT2 T H 363 413 413 826 s 8,891| 10,518| 10,368 20,886|4 H 1 T H 1,323 1,482 1,490  2,972(/N@ K3 T H 177 222 218 440
B KET3 T H 209 274 266 5403 # #F 1 T H 472 446 523 969|454 # 2 T H 982 1,107 1,184 2,291 /N8 A4T H 236 185 246 431
El1TH 695 706 721 L4227\ & M2 T H 812 788 842 1,630(4 # 3 T H 875 989 975 1,964 |/~ K57 H 74 76 94 170
Ei2TH 724 882 865 L7TATIR & #3 T H 1,085 1, 107 1, 101 2,208(4 H 4 T H 0 0 0 O R 1T H 262 186 243 429
EMWM3TH 387 510 523 1,033|3 & M4 T H 734 697 691 1,388(4 # 5 T H 182 56 159 215/ R 2T H 255 305 290 595
Ei4TH 787 851 956 1,807\ & M5 T H 987 967 976 1,943 G 4, 858 5, 567 5,675 11,242|H R 3 T H 346 208 323 531
EW5TH 533 546 556 L1023 & M6 T H 386 432 402 834 /N | 52,293 58,716 57,821 116,537/ G 2,224 1,924 2, 166 4, 090
E e T H 155 206 215 211 » 1T H 418 461 453 914 1 T H 352 434 398 82| A1 T H 249 197 268 465
EW7TH 495 541 483 1,024 (48 » fi2 T H 798 717 844 1,661 2 T H 420 471 492 963[a A 2 T H 394 277 302 579
E 8T H 273 309 306 615|ffi [ BT 1 T H 332 412 385 9708 3 T H 439 542 546 1,088k A 3 T H 108 128 126 254
EW9TH 3 4 3 7|6 [ BT 2 T H 702 810 802 1,612(Ffn HET 1T H 219 266 260 526 A 4 T H 61 58 57 115
KHET1TH 307 360 345 705 |fifi fi BT 3 T H 557 589 534 1,123(Ffn HET2 T A 282 337 352 689 A5 T H 73 72 76 148
RKHEWT2T H 359 343 321 664 |ffi [E BT 4 T H 463 447 430 877(HE # 1 T H 157 204 202 406|p% A 6 T A 37 47 48 95
RKHEBT3T H 303 398 374 772 Gl 7,746 7,873 7,983 15,856 (HF #F 2 T H 166 196 220 416|pk A7 T A 70 84 82 166
K HEWT4T H 303 373 379 75218 BT 1 T H 1,175 1,431 1,312  2,743|# %8 3 T H 176 225 212 437\ A8 T A 100 122 97 219
K HEHBTS T H 309 349 366 7158 BT 2 T H 755 958 827 1,785 |#F %5 4 T H 215 252 248 500 [/ 2 1,092 985 1,056 2,041
T WERT1 T H 663 754 770 1,524 81 #] 3 T H 1,511 1,709 1,507 3,216|H # 5 T H 499 625 648 1,273 | 8E BT & & 9,395| 10,006 10,465( 20,471
T WHET2 T H 531 635 605 1,24008r B 4 T H 708 832 810  1,642(#F #F 6 T H 505 663 584|  1,247|& 2+ 61,688| 68,722| 68,286 137,008
T WERT3 T H 401 503 437 940(%¥r mT 5 T H 1, 186 1,525 1,392 2,917 |4l AR BT 1T H 373 446 437 883
T WERTA T H 470 534 442 976(%¥r BT 6 T H 98 129 125 264\t ART2 T H 497 429 558 987




